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General Instructions :

(i)

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(i) All questions are compulsory.

(ii)

There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

(v)

(vi)

(vii)

(viii)

(ix)

(x)

31/1/1

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in
brief-
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HAT—-A
SECTION-A

1. 39 9uSdiE Aol o 98 3 Hewl o -7 foriay et Jermicr
e —Cl2 |

Write the molecular formula of first two members of homologous

series having functional group —Cl.

2. IFRA Ut O wrsmsr < A fafe @ am Tt | T fafy
<AfiTeh 2 STan rcifire ¢

Name the method by which spirogyra reproduces under favourable

conditions. Is this method sexual or asexual ?

3. Uias e wedg?

What is an ecosystem ?

4. =08 T 15 cm BRE g % 3T SUOT % WA 30 em T W @ R |
YU G & SIToral o TR SATHAN 1 Ieeid hiTT |

An object is placed at a distance of 30 cm in front of a convex
mirror of focal length 15 cm. Write four characteristics of the

image formed by the mirror.

5. GO Yere 91 § ¢ GA:3TART Rl TSR0 hl JoT H Sga’ i T

ST ?
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What is sustainable management ? Why is reuse considered better

in comparison to recycle ?

6. I TH T S T 1 Yele STk Aol i & | )T 7 RIS
31 R0 AT |
Management of forest and wild life resources is a very challenging
task. Why ? Give any two reasons.

7. e AR X R Y o 1] I FUs: C4Hg 3R CsHy, 8150 &
foreehl Tenct atfufsma guTia st S7fersh HTaT 81 ket € 7 319 T I
gy AT | 30 TR | Heha atfufsen st ufsean i sme & fog
T TR ot €I |
Two carbon compounds X and Y have the molecular formula
C4Hg and Cs5H;, respectively. Which one of these is most likely
to show addition reaction ? Justify your answer. Also give the
chemical equation to explain the process of addition reaction in this
case.

8. R fa¥ T Teafes wefieRton sl g SIS :

(i) CH3COOC,Hs5+NaOH——
(ii)) CH3COOH+NaOH——
(iii) C,HsOH+CH3COOH — 212504

31/1/1 5
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Complete the following chemical equations :
(1) CH;COOC,H5+NaOH——
(i1)) CH3COOH+NaOH——

(iii) C,HsOH+CH3COOH 0112504

9. T e TReft & FHed Tardi o &fast ufwal o A fafaw | foreh
Fed T H W ¥ A9 T R dedl o dTfeoen Acegor § i
T 2 7 foreft ot ifes & orff ot & aeff o SH w wemny) B &
TIES § 1 IRET BT © 7 SURE 1 YR o I o g& W R
e |

Write the names given to the vertical columns and horizontal rows

in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

cases.

10. 15 @ P (W] &A1 20) Foret o/ dcd Q (WHI] §&A1 17) ¥
STfufsRa shten IS AR SHTaT © | At foT TTT At R hRT e 3T
difsu
STy STad 9ot § P 3R Q i feufa, qen P o Q it srfsrfsran
0 4 AT 1 1T fafau |
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An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts
with Q.

11. 181, S - 3
(a) TATTH G IFRT S 9T ohe ST 7
(b) FEeTT = Uit Tied ger W iR S 2 7
(c) TN BT 7577 st STt (THfSmIT) %e STt 2 7

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

12. <R 9 Sl G TRl 1 3gE HITWT | Tehfd | $H TR o S
%1 TEd faIRa | 3

State the basic requirement for sexual reproduction ? Write the

importance of such reproductions in nature.

31/1/1 7 [P.T.O.



13. THIIE H 9 AT afed o 3g@ hiiT S -
(a) o1 FTMUQ (TRITYQ) &1 a1 € |

(b) &I IWE / VS T = &l el |
State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

14. TF F TH-TH A Id TC ITRIA 3R AT A& & s
aTfetent o €9 | fawed i |

Distinguish between the acquired traits and the inherited traits in

tabular form, giving one example for each.

15. Toreht 3erewor i gemdar 9 sure s for fffaiaa ¥ 9y g

SeRI STl o ferehTel <h UeT | JHTOT SRd LT © :

(a) TUSITT 37T

(b) W&y (ugfr) o
(c) Sitared

Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

31/1/1 8



16. &% 4 cm =% H fora el 10 cm ®iRE T & TFdd g0 &
e 15 em 0 R ferd ® | gdor @ foredt ud Rt feraeft gt X e wme R
39 W o o1 Ton wfafers w2 7 ufaforsr 1 =g oft dftepfera

Fhiferu | 3

An object 4 cm in height, is placed at 15 cm in front of a concave
mirror of focal length 10 cm. At what distance from the mirror
should a screen be placed to obtain a sharp image of the object.

Calculate the height of the image.

17. wgHTfl U o - gelct B dorn foreecti oi| o el o s
3T % AU IS GE-IN 3004 T ST ¢ | 39 -39 9 TART |
39 YR o ARl I 3B H IR o ¢ A9 F o JRR 1 AH
fafaw | 30 <@ il 9= 3 Fr il s Hifs | 3

Due to gradual weakening of ciliary muscles and diminishing
flexibility of the eye lens a certain defect of vision arises. Write the
name of this defect. Name the type of lens required by such persons
to improve the vision. Explain the structure and function of such a

lens.

31/1/1 9 [P.T.O.



18. 31Ul “qafervr feam’ W feramer Sty eielia @ § ‘e wa 3
3Geh1 weeer’ g W s & fa g mn g
(a) TATIXOT o SIS o foTU SIS W <l GReqT i <hl ST =mfee ?
(b) U@ TR &t urn ot gt ST ek o # STerqde 3TmIE e
3T 79 fiEll § STHTEeRal 3cad i 3TR ST TiaXyl o d1g-a1d
ST WX o T § +ff wewre 2 |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

19. HIgH 3T TqUTSIh SHT & AU & YR 2 | 39 IH1 § =R fofan |
T T FwTg s st fora fafyr forfau | are e sta < @ 3
FIT T T 7 AT o T W fSetsiel 1 3TN FH o HRT 3T
BN arelt foreel <1 Tt o6 3@ s |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/1 10



20. (a) THA T o 39 3 H1 AW fARIT ST YRt ok fmior o -
T EHM A1 Ul ol AT 2 | 39k N Gl &IH T8 IR
i feTfae |

(b) TS HTET SHA a3 o 37 9T o1 w8 fafaw et fiem Ean #

(c) = HifTe 3 Arar o YRR & fier foshfra & gor =1 wor form
TR BT § | 5

(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(¢) Explain how the developing embryo gets nourishment inside the

mother’s body.

21. e o TANT N € fohw TehT 1 g1 Toh 5
(a) TEI0T TS 3T STATE Bid & 7
(b) T A& T I BT Th—gEL § T BIa1 & ¢
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) 1inheritance of two traits is independent of each other ?

31/1/1 11 [P.T.O.



22. 3TA <l o YR § forat gl (u) o Eny wfdferst g8 (v) § oo
T areft = & Wit Seqor arferst o1 fargeror ifste @i ufteem R

form & ffeTRaa At o 3T 2 -
E ot fifer g
e u (cm) v (cm)
1 -90 +18
2 - 60 +20
3 —-30 + 30
4 -20 + 60
5 - 18 + 90
6 -10 + 100

(a) 3T T1E ol BT T 1§ ¢ 37T I o 98T H R0 ST |

(b) 39 J&gu1 1 hH TeA fafaw st o 72 2| I T ot fora
YRR TehTeT 7

(c) @3 off 3fa I TR YU WA 4 % T g TR o
Hifeu 37 3rraelT o1 T 7 1 fifsr |

31/1/1 12



Analyse the following observation table showing variation of
image distance (v) with object distance (u) in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 —-30 + 30

4 -20 + 60

5 - 18 + 90

6 -10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

31/1/1 13 [P.T.O.



23. (a)

(b)

(a)

(b)

24. (a)

(b)

(c)

31/1/1

TRTST foRtur ST it ToT a9 W U &1 foRwn R g €,
et gdur & qreds & gyt Y fwm S T WX g © | v
31 TRt 1 gt SIS 37 31adet SUUT o YRl | JXTar o I9ETd,
3 ToRoT & eIl o1 3@ hifNT | 31 ST foon T 39T, 3Terad
TUU o ga IR BT o o= fedra forel) forear o6 wfaforar <t fearfa,
TRt fortuT 3R Wiwe J1d o | hifsTu |

iz A UV 9 I 20 cm T W e forelt forrar =1 o
T ST Sidfors 96 O ST & | 9al foreel § foraet @i g ?

To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

T =11 <l s fomr s wige fifsi |

forelt @i o frsm @ o W sTmufad v weRTer S staEt gol
TagH o &9 § faws o1 2 9 2, =2 hifse ?

TSUTY T ST ATHTToRd foRT TR e qoTfsu |

14



(a) Draw a ray diagram to explain the term angle of deviation.

(b) Why do the component colours of incident white light split into

a spectrum while passing through a glass prism, explain.

(c) Draw a labelled ray diagram to show the formation of a
rainbow.
HOT-o
SECTION-B

25. AU I IR WEHAA, A, B, C 3R D # $U3: HeIH FEme,
aifen FrEe, 93 1 O @R e forer 5 foeem R E T @
fora /| fort wrEaferat & ueted 1 3uam vHifeE [/ wdHTEeE Tt o TRt
THeTuT o foTT AT I 2 7 1
(a) I A
(b) A3MB
(c) B3RC
(d) A3mRD
You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions

respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) AandB
(c) BandC
(d) AandD

31/1/1 15 [P.T.O.



26. TANTRITET | AR shi AffsRan &1 qem / fERia & @ fae aa
TR AR o1 1=t T T 61 | wse wed 31ferek 3ugeh @ ?

(a) T I A R HKfcHTH TESIFES
(b) TUE T dcA AR Hhictam TSRS
(c) U 1 dd IR HifeTT TESIHTES
(d) TEl 1 A AR AT TESAES

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

27. Tt B 9 IR EHteEt P, Q, R 3 S off 3R yedss § &9 8 mL
ST ST W | TeawaT, 38 T@q el P ¥ Na,SOy4, QW K,S04, RH

CaSOy4, ST MgSO, it TuH HETY =ief! | Yeish el H T
oo it a9 e TR 38 vefl-Ter faeifed e w38 o
et B T W1 | S UTE 8, 98 W ©

(2) P3Q
(b) P3M R
(c) P,Q3Mm S
(d Q,R3M S

31/1/1 16



28.

A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,SO4 in Q, CaSOy4 in R and MgSOy4 in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(a) PandQ

(b) Pand R

(c) P,QandS

(d) Q,Rand$S

T o SIS % YOI 1 S0 R TR ToRelt B 9 e o oTgEmR gt

SStTayT, SSUegR, S, 31 :had, T, AT |
T4 G I e e HEied J I8 el 3, foh 370 € A e W
B T T | 3 A e 9 R 5 e

(a) SIS, SSTTEoT, IT

(b) ST, T, FATEL

(c) S, 37d:Fa=, AT

(d) ST, SSUSER, W

31/1/1 17
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A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts

are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule
(b) Cotyledon, Plumule, Radicle
(¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

29. Trafafad 3 @ w@sTa o & Tg= i gHT:

(a) e[ AR ferceft & T@
(b) TGS IR Fe[R h T@

(c) T, e IR fushet! & aMTE

(d) foaeft 3R smmee & U

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(c) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/1 18



30. o B A, B 3R C 3 forelt gy wam =it oTaddt guur it gerar ¥ ue
T R R | T @ ) B g fef e % f R
freafafaa git i :

B A - 0 o A g

B B : Wa 9 9¢ % ol T

B C : Wa | Y0 T ol

T BIhE g A9 1T /9T BT 8 /% - 1
(a) Fad A

(b) Faa B

(c) ASRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen
with the help of a concave mirror. To determine focal length of the
concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) BandC

31/1/1 19 [P.T.O.



31. I @19 3ua | g el ey fomm, foeeht angpfa for S R, &

yfcrfsrsl ol 9e 9T Riehibd od 8,
1

a1 ue W 39 forrat o wfdfers it errepfa 2t :

@ (b) © — @
! 1 .

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

(a)

31/1/1

)

(b)

© (@ —
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32. = fou Tu a1t 4 | SfRd v 8 - 1

(@) LA Le

(b) Li,ZA3R LD
() LA, Lr3R Le
d) LA, Zr3 £D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(b)y Li,ZAand ZD
(c) LA, Lrand Le

(d) ZA, Zrand ZD

31/1/1 21 [P.T.O.



33. = U U R T U hiur, i ST, STUerde ShIvT qe difvden
foreena =0t 3T4Rl 1, 2, 3, 3R 4 510 T 9 | fohe yehR ewiian e 7

(a 2,4,1,3

(b) 2,1,4,3
(c) 1,2,4,3
d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,
angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

(@ 2,4,1,3

(b) 2,1,4,3
(c) 1,2,4,3

d 2,1,3,4

31/1/1 22



34, 5o o forell et § Oifeay qIEgieM #TeiHe 1 T3St ol 350
UHITEh 317 ST &, 1 G o disl JadaTae o |1 hig 19 feherd & |
39 19 &1 90 TR 3T 38 Teur &1 quiH HiSE Sl 39 119 6l 989
H YT FAT | 2

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

35. 39 iR SHA o TR I AW fafay fSas T ek iR 9 &
Fafd FIfSTeRreT w1 fmior 2T ¥ iR S RITTehT 1 Af%ie TH &
ST 8 | 3T TUH =1 1 3T HIST S8 30 TR o S ol 3T
AT 2 | 38 S o Tt 31 =T o TRE T | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

36. IS B 10 cm B T H1 3T I Tioht HIHe h! ST i oid d
TTHT 60 cm T W AT & 3 SaTer o s s 8 W Blepfad
AT 2 | $Heh UvEq o Sotell bl efit-ofi o Y 3R aehrar Sian @
3R T IR wfiferat i 98 T wishfad off a2 | 2

31/1/1 23 [P.T.O.



(a) SATAT & YTfes ol B i & U 98 Ue ol fhd TR TR
B- 0 Al AR AT AT A G ?

(b) fcfsrst o |TEST § T Yiad g & ¢

(c) oIl sl oF & ke @ W wfdfsrs it dfigar § @ gied g
27

(d) < @ T feRaHT g8 TR SATET i W@ T 3T GUH TS 6 3ol
yfafers AT 2 7

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves
towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

31/1/1 24



